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PROBLEMS ON AGES
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PATHANAMTHITTA

PLEASE ENTER YOUR WHAT'S APP NO (JOINED IN THE SAI EDN COACHING PLATFORM) *



5/8/2020 108 DAYS ONLINE COACHING FOR MISSION 2020-(DAY 69)-[08-05-2020~FRIDAY]

https://docs.google.com/forms/d/1J95Tc_ICxrzZbZ4bIrbhbEJWsrPF2osmaywOX3wd7_g/edit#response=ACYDBNifx1tnVsoOshz-x3oDTLG9-w9… 2/10

https://youtu.be/SgBKoa0qOA4
https://youtu.be/RKJQjseMe3E
https://youtu.be/3MKnjWIZrZc
https://youtu.be/Q9N1aaUWk7k
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C is elder than A
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1. A person's present age is two-fifth of the age of his mother. After 8 years, he will be one-half of the
age of his mother. How old is the mother at present? *

2. The total age of A and B is 12 years more than the total age of B and C. C is how many years younger
than A? *

https://www.google.com/url?q=https://youtu.be/SgBKoa0qOA4&sa=D&ust=1588950414572000&usg=AFQjCNEW1CNZ_ZgABe7VXCObW4G4uCEqUA
https://www.google.com/url?q=https://youtu.be/RKJQjseMe3E&sa=D&ust=1588950414572000&usg=AFQjCNHyFf_UN7xYqXwxI1BYwtt3wanAlQ
https://www.google.com/url?q=https://youtu.be/3MKnjWIZrZc&sa=D&ust=1588950414572000&usg=AFQjCNGYMCrG4pzCxY6d9CTRZ2D3xeq9iA
https://www.google.com/url?q=https://youtu.be/Q9N1aaUWk7k&sa=D&ust=1588950414572000&usg=AFQjCNG7vNnxsy2U6jW27UtUBnE3pzD6kg
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3. A father said to his son, 'I was as old as you are at present at the time of your birth.' If the father's age
is 38 years now, the son's age five years back was: *

4. A person was asked to state his age in years. His reply was, 'Take my age three years hence, multiply it
by 3 and then subtract three times my age three years ago and you will know how old I am.' What was the
age of the person? *

5. The sum of the ages of a son and father is 56 years after four years the age of the father will be three
times that of the son. Their ages respectively are: *
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6. In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years older than B, the present age
of B is : *

7. The sum of the present ages of a father and his son is 60 years. five years ago, father's age was four
times the age of the son. so now the son's age will be: *

8. The ratio of the present ages of P and Q is 3 : 4. Five years ago, the ratio of their ages was 5 : 7. Find
their present ages. *
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9. The age of a man is 4 times of his son. Five years ago, the man was nine times old as his son was at that
time. The present age of man is? *

10. The average age of a group of 10 students is 15 years. When 5 more students join the group, the
average age increase by 1 year. The average age of the new students is? *

11. The ratio of the father's age to the son's age is 3 : 1. The product of their ages is 147. The ratio of
their ages after 5 years will be? *
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12. The sum of the present ages of two persons A and B is 60. If the age of A is twice that of B, find the
sum of their ages 5 years hence? *

13. Sachin is younger than Rahul by 7 years. If the ratio of their ages is 7:9, find the age of Sachin? *

14. Six years ago Anita was P times as old as Ben was. If Anita is now 17 years old, how old is Ben now in
terms of P ? *
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15. The ages of Krish and Vaibhav are in the proportion of 3 : 5. After 9 years, the proportion of their
ages will be 3 : 4. Then the current age of Vaibhav is *

16. Raju got married 8years ago. His present age is 6/5 times his age at the time of his marriage Raju's
sister was 10years younger to him at the time of his marriage. The present age of Raju's sister is ? *

17. A man is 24 years older than his son. In two years, his age will be twice the age of his son. The present
age of his son is *
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18. A person's present age is two-fifth of the age of his mother. After 8 years, he will be one-half of the
age of his mother. How old is the mother at present ? *

19. Sum of the ages of Rajesh, Suresh, Mahesh and Dinesh is 76 years. 7 years hence, their age ratio is
7:6:5:8. Find Mahesh’s present age ? *

20. The ages of Anushka, Kajal and Charulatha together are 57 years. Bharti is thrice as old as Anushka
and Charulatha is 12 years older than Anushka. Then, the respective age of Anushka, Kajal and Charulatha
is ? *
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21. Five years ago, mother’s age was 3 times of her son’s age. After 10 years it will be twice as old as
herson. Then present age of mother is? *

22. One year ago, the ratio of Gauraw’s and Sachin’s age was 6:7 respectively. 4years hence, this
ratiowould become 7:8. How old is Sachin? *

23. The ages of two persons differ by 16 years. If 6 years ago, the elder are be 3 times as old as
theyounger one. Find their present ages. *
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24. Five years ago, grand father’s age was 13 times of his grand daughter’s age. Now it is 7 times.
Thenpresent age of grand daughter is? *

25. Raman’s age is 2 years less than the twice of Krishnan’s age. If the Raman’s age is 16. Krishnan’s age
is? *
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